
 

(MPPSC Unit - 7) Explanation: 
1. ANSWER: (c) 

Pasteurization or pasteurisation is a 

process in which packaged and non-

packaged foods (such as milk and fruit 

juices) are treated with mild heat, usually 

to less than 100 °C (212 °F), to eliminate 

pathogens and extend shelf life. 

2. ANSWER: (a) 

(a)The presence of impurities increases 

the boiling point of a liquid. 

3. ANSWER: (b) 

(b)It was launched by India on 19 April 

1975 from Kapustin Yar, 

a Russian rocket launch and development 

site in Astrakhan Oblast using a Kosmos-

3M launch vehicle. It was built by the 

Indian Space Research Organisation 

(ISRO). 

4. ANSWER: (a) 

(a) power is the rate of doing work. It is 

equivalent to an amount of energy 

consumed per unit time. In the SI system, 

the unit of power is the joule per second 

(J/s). 

5. ANSWER: (b) 

(b) Operation Smiling Buddha (MEA 

designation: Pokhran-I) was the assigned 

code name of India's first 

successful nuclear bomb test on 18 May 

1974. The bomb was detonated on the 

army base Pokhran Test Range (PTR), in 

Rajasthan, by the Indian Army under the 

supervision of several key Indian generals 

6. ANSWER: (a) 

(a)Wool traps heat effectively between its 

layers. Wool is a bad conductor of heat. 

Wool produces its own heat from its 

layers. 

7. ANSWER: (c) 

The water vapour present in the air comes 

in contact with cold surface of the glass, 

loses its energy and gets converted into 

droplets of water. 

8. ANSWER: (a) 

The good absorbers of heat are good – 

emitters of heat and are based 

on Kirchhoff's radiation law.  

9. ANSWER: (b) 

Water pipes burst because the water inside 

them expands as it gets close to freezing, and 

this causes an increase in pressure inside the 

pipe. When the pressure gets too high for the 

pipe to contain, it ruptures. 

10. ANSWER: (c) 

Cataract is caused in old age when 

eyesight becomes foggy due to the eye 

lens becoming cloudy or Opaque. 

11. ANSWER: (c) 

A microscope is a piece of optical 

equipment used to magnify close objects 

that are too small to be seen with the 

naked eye. 

As the image is magnified when working 

with a microscope, spectacles should be 

removed. 

12. ANSWER: (a) 

Due to excess of electrons in rod, it 

becomes negatively charged while the 

cat's skin with lost electrons, becomes 

deficient of electrons. Thus, cat's skin 

becomes positively charged. 

13. ANSWER: (d) 

The correct answer is the Curvature of the 

earth. Television signals cannot be 

received ordinarily beyond a particular 

distance due to the curvature of the earth 

14. ANSWER: (c) 

LASER is the short form of light 

Amplification by Stimulated Emission of 

Radiation. It is a device by which an 

intense, monochromatic,collimated and 

highly coherent light beam can be 



 

obtained . Laser beam is used in surgery 

because it can be sharply focussed 

15. ANSWER: (c) 

IC Chips, also called integrated circuit 

chips, is made up of semiconductor 

material which is normally silicon. 

16. ANSWER: (c) 

Agni-VI is an intercontinental ballistic 

missile being developed by the Defence 

Research and Development Organisation, 

in India. 

17. ANSWER: (d) 

The correct answer is option d 

18. ANSWER: (c) 

Actinometer 

19. ANSWER: (c) 

A magnet can be completely 

demagnetized only by applying a reverse 

field equivalent coercivity of the 

material.  

20. ANSWER: (a) 

the south pole of the bar magnet is 

attracted towards the earth's magnetic 

north pole, i.e. earth's geographic south 

pole. A MAGNET ALWAYS SETTLES 

IN THE NORTH-SOUTH DIRECTION 

21. ANSWER: (b) 

convection can take place in fluids and 

gases. 

22. ANSWER: (b) 

Mercury 

23.  ANSWER: (b) 

At 277 kelvin 

24. ANSWER: (b) 

to treat myopia concave lens should be 

used 

25. ANSWER: (a) 

Pearls are made primarily of calcium 

carbonate, so they can be dissolved in 

vinegar. Calcium carbonate is susceptible 

to even a weak acid solution because the 

crystals react with the acetic acid in the 

vinegar to form calcium acetate and 

carbon dioxide 

26. ANSWER: (a) 

Optical fibers depend on total internal 

reflection. Total internal reflection (TIR) 

may be defined as the complete reflection 

of a beam of light within some medium 

like water or glass from the surrounding 

surfaces back into the medium. 

27. ANSWER: (d) 

An air bubble in water deflects the light 

away from its original path- hence 

behaving as a diverging lens i.e. concave 

lens. 

28. ANSWER: (d) 

Sunlight-induced rainbows always appear 

in the sky area directly opposite the 

Sun.Hence it will not appear at noon. 

29. ANSWER: (b) 

Violet light slows down even more than 

red light, so it is refracted at a slightly 

greater angle. 

30. ANSWER: (b) 

 Flint glass. Flint glass, also called 

Crystal, is heavy and durable glass 

characterized by its brilliance, clarity, and 

highly refractive quality. In the optical 

glass industry, flint glass is any highly 

refractive lead-containing glass used to 

make lenses and prisms. 

31. ANSWER: (d) 

Galvanizing is a process of coating iron 

or steel with zinc in order to provide 

greater protection against corrosion for 

the iron or steel base 

32. ANSWER: (d) 

33. ANSWER: (a) 

Pyrex glass is used for making laboratory 

apparatus because of low coefficient of 



 

expansion and having high resistance to 

chemical attack. 

34. ANSWER: (a) 

1921 Nobel Prize in Physics (in 1922, 

after a long bout of internal Nobel hand-

wringing), he received it primarily for his 

explanation of the photoelectric effect.  

35. ANSWER: (b) 

Nuclear Energy 

36. ANSWER: (a) 

helium and oxygen (heliox). Deep sea 

divers used the cylinders of mixture of 

helium and oxygen which is known as 

heliox 

37. ANSWER: (c) 

Dr. Vikram Sarabhai and an eminent 

industrialist and philanthropist Shri 

Kasturbhai Lalbhai, and proactively 

supported by the then Chief Minister of 

Gujarat, Dr. Jivraj Mehta, a group of 

enlightened individuals set up IIMA in 

1961 

38. ANSWER: (c) 

Raman effect, change in the wavelength 

of light that occurs when a light beam is 

deflected by molecules. When a beam of 

light traverses a dust-free, transparent 

sample of a chemical compound, a small 

fraction of the light emerges in directions 

other than that of the incident (incoming) 

beam 

39. ANSWER: (a) 

Hematite and magnetite are by far the 

most common types of ore. Pure 

magnetite contains 72.4 percent iron, 

hematite 69.9 percent, limonite 59.8 

percent, and siderite 48.2 percent, but, 

since these minerals never occur alone, 

the metal content of real ores is lower. 

40. ANSWER: (b) 

National Innovation Foundation (NIF) – 

India is an autonomous body of the 

Department of Science and Technology 

(DST), Government of India. It was set 

up in February 2000 at Ahmedabad, 

Gujarat and is India's national initiative to 

strengthen the grassroots technological 

innovations and outstanding traditional 

knowledge. 

41. ANSWER: (b) 

In the commercial production of 

ethanol, Saccharomyces cerevisiae is 

used as yeast because it can tolerate a 

wide range of pH 

42. ANSWER: (a) 

Silicon is used to make solar cells and 

silver is used for interconnection of the 

cells in the panel. 

43. ANSWER: (b) 

LPG has the highest calorific value. LPG 

has a typical specific calorific value of 

46100 kJ/kg. The calorific value of a fuel 

may be defined as the amount of heat 

energy (kJ) produced by complete 

combustion of 1 kg of fuel under the 

standard conditions. 

44. ANSWER: (c) 

The ISA is headquartered in Haryana, 

India. In January 2016, Narendra Modi, 

and the then French President François 

Hollande jointly laid the foundation stone 

of the ISA Headquarters and inaugurated 

the interim Secretariat at the National 

Institute of Solar Energy (NISE) in Gwal 

Pahari, Gurugram, India. 

45. ANSWER: (a) 

Heavy water is an excellent moderator 

due to its high moderating ratio and low 

absorption cross section for neutrons. 

46. ANSWER: (b) 

Graphite are used as moderators in a 

nuclear reactor. 

47. ANSWER: (b) 



 

The two most commonly used tear gases 

are ω-chloroacetophenone, or CN, and o-

chlorobenzylidenemalononitrile, or CS. 

CN is the principal component of the 

aerosol agent Mace and is widely used in 

riot control. It affects chiefly the eyes. 

48. ANSWER: (a) 

A purgative is a medicine that causes you 

to get rid of unwanted waste from your 

body 

49. ANSWER: (a) 

The land at the equator is moving 1670 

km per hour, and land halfway to 

the pole is only moving 1180 km per 

hour, so launching from the 

equator makes the spacecraft move 

almost 500 km/hour faster once it is 

launched. 

50. ANSWER: (d) 

Matthew Fontaine Maury, Father of 

Oceanography 

51. ANSWER: (b) 

Kacheguda railway station in 

Hyderabad has become India's first 

Energy-Efficient 'A1 Category' Railway 

Station. It is operated by the South 

Central Railway (SCR) zone of Indian 

Railways. The station achieved the feat 

by replacing 1,312 conventional lights 

with Light-Emitting Diode (LED) 

52. ANSWER: (b) 

Operation Save Kurma. The operation 

was conducted by the Wildlife Crime 

Control Bureau (WCCB) to fight against 

the increasing illegal trade of live turtles 

and their parts from the country to 

destinations abroad. 

53. ANSWER: (b) 

The biodiversity hotspot concept 

highlights the coupledness of biodiversity 

and humanity. The concept, first 

suggested in 1988 by Norman Myers, 

arose from growing concern among 

ecologists and environmentalists about 

the rapid loss of habitat in areas of high 

biodiversity and endemism. 

54. ANSWER: (b) 

Papikonda National Park (PNP),Andhra 

pradesh with a dominant area covered 

with moist deciduous forest, has become 

home for the leopard cat ( Prinailurus 

bengalensis ) in the Eastern Ghats. The 

1,012.86 sq km national park is on both 

sides of river Godavari in the northern 

Eastern Ghats. 

55. ANSWER: (b) 

China is the largest producer of electronic 

waste worldwide, generating more than 

10 million metric tons worth in 2019. 

56. ANSWER: (b) 

Indian Oil Research and Development 

Centre has constructed a 0.85 km of road 

with different concentrations of plastic 

waste at Faridabad. 

57. ANSWER: (a) 

Rajasthan's Jaipur Railway Station topped 

the list of cleanest railways stations in 

India. The survey said that Jaipur ranked 

first in the Station Cleanliness Survey 

2019 with an overall score of 931.75. 

Jodhpur ranked second with a score of 

927.19 while Durgapura achieved third 

place with a score of 922.50. 

58. ANSWER: (a) 

ITC has also spearheaded a first-of-its-

kind multi-layered plastic (MLP) 

collection and recycling program in 

Pune leveraging the R&D expertise 

resident within the ITC Life Sciences and 

Technology Centre. 

59. ANSWER: (b) 

The ozone layer is present in the 

stratosphere at a height of 16km to 25km. 



 

·Ozone thickness is measured by Dobson 

units(D.U.)  

60. ANSWER: (d) 

Lichens are good indicators of the 

sulphur dioxide pollution in the 

environment. 

61. ANSWER: (b) 

The Nagoya Protocol on Access to 

Genetic Resources and the Fair and 

Equitable Sharing of Benefits Arising 

from their Utilization (the Protocol) is a 

global agreement that implements the 

access and benefit-sharing obligations 

of the Convention on Biological 

Diversity (CBD). 

62. ANSWER: (b) 

The NBA with its headquarters 

in Chennai, Tamil Nadu, India delivers its 

mandate through a structure that 

comprises of the Authority, Secretariat, 

SBBs, BMCs and Expert Committees 

63. ANSWER: (d) 

the first carbon dioxide measurement 

exchange tower of India was established 

in Haldwani (Uttarakhand), several other 

such towers have also been installed in 

other parts of the country like Barkot 

(Uttarakhand), Meerut (Uttar Pradesh), 

and Betul (Madhya Pradesh) 

64. ANSWER: (b) 

She is an animal rights activist and was 

the Editor of the Indian edition of the 

animal rights magazine Animal Times. 

65. ANSWER: (b) 

The State of India's Environment Report 

2021 is released by Centre for Science 

and Environment, a environmental NGO 

based in New Delhi. The report is 

released annually on the eve of World 

Environment Day on June 5/ 

Development alternatives. 

66. ANSWER: (d) 

The Western Ghats covers a total area of 

140000 sq km. It is a part of the states of 

Karnataka, Tamil Nadu, Kerala, Goa, 

Maharashtra and Gujarat. The largest 

numbers of endemic plant species are 

found here. According to scientists, this 

region is among the biodiversity hot 

spots of the country. 

67. ANSWER: (c) 

The Greenhouse Gases Observing 

Satellite "IBUKI" (GOSAT) is the 

world's first spacecraft to measure the 

concentrations of carbon dioxide and 

methane, the two major greenhouse 

gases, from space. 

68. ANSWER: (c) 

Situated at the foothills of the eastern 

Himalayas in the Sonitpur district of 

Assam, Nameri National Park is the last 

home to the White-winged wood duck, 

the most endangered species of ducks in 

India. 

69. ANSWER: (c) 

The institute has four regional centres 

located 

 Mandapam, Visakhapatnam, Mangalore 

and Vizhinjam and seven regional 

stations 

 Mumbai, Chennai, Calicut, Karwar, Tuti

corin, Veraval and Digha. There are also 

fifteen field centres and 2 KVKs 

(Ernakulam and Kavaratti, Lakshadweep) 

under the control of the institute. 

70. ANSWER: (a) 

The Indira Gandhi Wildlife Sanctuary is 

also known as the Top Slip and it is 

located about thirty-seven kilometers 

from the Pollachi town. It is separated 

from the Nilgiri Hills by the Palghat Gap 

on the north and the Parambikulam 

Wildlife Sanctuary to its west also to the 
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Eravikulam National Park and the 

Chinnar WLS to its south. 

71. ANSWER: (a) 

The parsec is a unit of length used to 

measure vast distances between 

astronomical objects outside the Solar 

System. It is roughly equivalent to. light-

years or astronomical units, or. trillion 

kilometers. 

72. ANSWER: (c) 

73. ANSWER: (a) 

74. ANSWER: (c) 

75. ANSWER: (d) 

76. ANSWER: (d) 

77. ANSWER: (a) 

when a lift accelerates upwards, the 

apparent weight of the person inside it 

increases. So, when a lift accelerates 

downwards, the apparent weight of the 

person inside it decreases. R = m(g - g) = 

0. 

78. ANSWER: (d) 

MRI uses magnets and radio waves to 

produce images on a computer. MRI does 

not use any radiation. Images produced 

by an MRI scan can show organs, bones, 

muscles and blood vessels. 

79. ANSWER: (a) 

The radius of Earth is minimum 

at the pole. So 'g' is maximum at pole. 

Hence, the weight of the body is 

maximum at pole. 

80. ANSWER: (c) 

When milk is churned, the cream is 

separated from it due to centrifugal 

force because this force acts outwards in 

the direction of line joining centre to the 

locus. 

81. ANSWER: (c) 

The AQI is an index for reporting daily 

air quality. It tells you how clean or 

polluted your air is, and what associated 

health effects might be a concern for you. 

The objective of an AQI is to quickly 

disseminate air quality information 

(almost in real-time) that entails the 

system to account for pollutants which 

have short-term impacts. Eight 

parameters (PM10, PM2.5, NO2, SO2, 

CO, O3, NH3, and Pb) having short-term 

standards have been considered for near 

real-time dissemination of AQI  

82. ANSWER: (d) 

A secret force also known as the Special 

Frontier Force (SFF) under the 

administrative control of the Cabinet 

secretariat and the PMO. Raised towards 

the end of the 1962 war, SFF’s 

commandos are drawn from Tibetan 

refugees settled in India. The SFF has 

played an important role in multiple 

military operations — from the 1971 

India-Pakistan war to the 1999 Kargil 

battle — but has largely functioned under 

the shadows. SFF units, also known as 

Vikas battalions, come under the direct 

purview of the Cabinet Secretariat, and is 

operationally involved with the Army. 

 

83. ANSWER: (d) 

A drive against touts was intensified by 

Railway Protection Force (RPF) of Indian 

Railways. In a nation wide investigation, 

RPF has disrupted the operation of illegal 

software called ―Real Mango‖ used for 

cornering confirmed Railway reservation. 

A drive against touts was intensified by 

Railway Protection Force (RPF) of Indian 

Railways. Operation of an illegal 

software called ―Rare Mango‖ (later 

changed its name to ―Real Mango‖) was 

intensified by Railway Protection Force 

(RPF) of Indian Railways.  

84. ANSWER: (a) 

The India Innovation Index, which was 

released last year by NITI Aayog, has 

been widely accepted as a major step in 



 

the direction of decentralisation of 

innovation across all states of the country  

85. ANSWER: (c) 

A global agreement on specific control 

strategies to reduce the release of ozone-

depleting substances was adopted 

by Montreal protocol. The Montreal 

protocol stipulates that the production of 

compounds that deplete ozone in the 

stratosphere, e,g. 

86. ANSWER: (b) 

Biodiversity varies with a change in 

altitude or latitude. The diversity 

increases as we move from high to low 

altitudes (i.e., from poles to equator) 

87. ANSWER: (c) 

a decrease in the amount of sunlight 

reaching the surface of the earth, believed 

to be caused by pollution in the 

atmosphere. 

88. ANSWER: (d) 

Weeds fight for the essential components, 

light, water, nutrients, and space with the 

crops. Weeds reduce the crop yield and 

can even cause diseases in crops. Weeds 

can be prevented by spraying weedicides. 

Weeds can be removed by weeding. 

89. ANSWER: (d) 

90. ANSWER: (b) 

91. ANSWER: (d) 

Ultrafiltration removes bacteria, protozoa 

and some viruses from the water. 

Nanofiltration removes these microbes, as 

well as most natural organic matter and 

some natural minerals, especially divalent 

ions which cause hard water. 

92. ANSWER: (d) 

Cadmium 

93. ANSWER: (b) 

94. ANSWER: (a) 

India hosts 4 biodiversity hotspots: the 

Himalayas, the Western Ghats, the Indo-

Burma region and the 

Sundaland (Includes Nicobar group of 

Islands).  

95. ANSWER: (c) 

96. ANSWER: (b) 

97. ANSWER: (a) 

98. ANSWER: (d) 

Samrupa, the worlds first cloned buffalo. 

99. ANSWER: (b) 

Reserpine—It is an indole alkaloid 

obtained from Rauwolfia serpentina. It is 

used as antipsychotic and 

antihypertensive agent for the control of 

high blood pressure and for the relief of 

psychotic symptoms respectively 

100. ANSWER: (a) 

Tropical rainforests have the optimum 

conditions of moisture and temperature. 

Consequently, the rate of decomposition 

in tropical vain forests is also high. 

 

 

 

 

 

 

 

O;k[;k% 

1- ¼lh½ ik'pqjhdj.k ;k ik'pjkbts'ku ,d 

,slh çfØ;k gS ftlesa iSdsTM vkSj xSj&iSdsTM 

[kk| inkFkZ ¼tSls nwèk vkSj Qyksa ds jl½ dks 

gYds xeÊ ds lkFk bykt fd;k tkrk gS] 

vkerkSj ij 100 fMxzh lsfYl;l ¼212 fMxzh 

QkjsugkbV½ ls de] jksxtudksa dks [kRe djus 

ds fy, vkSj 'ksYQ thou dk foLrkj djsaA 

2- ¼a,½ v'kqf);ksa dh mifLFkfr ls æo dk 

DoFkukad de gks tkrk gSA 

3- ¼ch½ bls Hkkjr }kjk 19 vçSy 1975 dks 

dkifLVu ;kj ls y‚Up fd;k x;k Fkk] tks ,d 



 

:lh j‚dsV y‚Up vkSj ,LVªk[kku vksCykLV esa 

fodkl LFky gS] tks dksLeksl &3 ,e y‚Up 

okgu dk mi;ksx dj jgk gSA bls Hkkjrh; 

varfj{k vuqlaèkku laxBu ¼bljks½ us cuk;k gSA 

4- ¼,½ 'kfä dk;Z djus dh nj gSA ;g çfr 

;wfuV le; esa [kir ÅtkZ dh ek=k ds cjkcj 

gSA SI ç.kkyh esa] 'kfä dh bdkÃ twy çfr 

lsdaM ¼J@s½ gSA 

5- ¼ch½ v‚ijs'ku LekbÇyx cq)k ¼,eÃ, 

inuke% iks[kj.k& I½ 18 eÃ 1974 dks Hkkjr 

ds igys lQy ijek.kq ce ijh{k.k dk fuÆn"V 

dksM uke FkkA ce dks jktLFkku esa lsuk ds 

vkèkkj iks[kj.k VsLV jsat ¼ihVhvkj½ ij foLQksV 

fd;k x;k FkkA ] Hkkjrh; lsuk }kjk dÃ çeq[k 

Hkkjrh; tujyksa dh ns[kjs[k esa 

6- ¼,½ Åu bldh ijrksa ds chp çHkkoh <ax ls 

xeÊ dk tkyA Åu Å"ek dk dqpkyd gSA Åu 

viuh ijrksa ls viuh Å"ek mRiUu djrk gSA 

7- ¼lh½ gok esa ekStwn tyok"i dkap dh BaMh 

lrg ds laidZ esa vkrk gS] viuh ÅtkZ [kks 

nsrk gS vkSj ikuh dh cwanksa esa ifjoÆrr gks tkrk 

gSA 

8-¼,½ Å"ek ds vPNs vo'kks"kd Å"ek ds vPNs 

mRltZd gksrs gSa vkSj fdjp‚Q ds fofdj.k 

fu;e ij vkèkkfjr gksrs gSaA 

9- ¼ch½ ikuh ds ikbi QV tkrs gSa D;ksafd 

muds vanj dk ikuh teus ds djhc igqap 

tkrk gS vkSj blls ikbi ds vanj ncko c<+ 

tkrk gSA tc ikbi dks jksdus ds fy, ncko 

cgqr vfèkd gks tkrk gS] rks ;g VwV tkrk gSA 

10- ¼lh½ eksfr;kÇcn cq<+kis esa gksrk gS tc 

vka[kksa ds ysal ds ckny ;k vikjn'kÊ gksus ds 

dkj.k vka[kksa dh jks'kuh èkqaèkyh gks tkrh gSA 

11- ¼lh½ lw{en'kÊ çdk'kh; midj.k dk ,d 

VqdM+k gS ftldk mi;ksx fudV dh oLrqvksa dks 

vkoÆèkr djus ds fy, fd;k tkrk gS tks uXu 

vka[kksa ls ns[kus ds fy, cgqr NksVh gSaA 

pwafd ekbØksLdksi ds lkFk dke djrs le; 

Nfo dks cM+k fd;k tkrk gS] blfy, p'ek gVk 

fn;k tkuk pkfg,A 

12- ¼,½ NM+ esa bysDVª‚uksa dh vfèkdrk ds 

dkj.k] ;g _.kkRed :i ls vkosf'kr gks tkrk 

gS tcfd [kks, gq, bysDVª‚uksa ds lkFk fcYyh 

dh Ropk esa bysDVª‚uksa dh deh gks tkrh gSA 

bl çdkj] fcYyh dh Ropk ldkjkRed :i ls 

pktZ gks tkrh gSA 

13- ¼Mh½ lgh mÙkj i`Foh dh oØrk gSA i`Foh 

dh oØrk ds dkj.k Vsyhfotu flXuy vkerkSj 

ij ,d fo'ks"k nwjh ls vfèkd çkIr ugÈ fd, 

tk ldrs gSa 

14- ¼lh½ ystj fofdj.k ds mRltZd mRltZu 

}kjk çdk'k çoèkZu dk laf{kIr :i gSA ;g ,d 

,slk midj.k gS ftlds }kjk ,d rhoz] 

eksuksØkseSfVd] dksfyfeVsM vkSj vR;fèkd lqlaxr 

çdk'k iqat çkIr fd;k tk ldrk gSA ltZjh esa 

ystj che dk mi;ksx fd;k tkrk gS D;ksafd 

bls rsth ls Qksdl fd;k tk ldrk gS 

15- ¼lh½ vkÃlh fpIl] ftls ,dh—r lÆdV 

fpIl Hkh dgk tkrk gS] vèkZpkyd lkexzh ls 

cuk gksrk gS tks lkekU; :i ls flfyd‚u gksrk 

gSA 

16- ¼lh½ vfXu&VI ,d varjegk}hih; 

cSfyfLVd felkby gS ftls Hkkjr esa j{kk 

vuqlaèkku vkSj fodkl laxBu }kjk fodflr 

fd;k tk jgk gSA 

17- ¼Mh½ lgh mÙkj fodYi d gS 

18- ¼lh½,fDVuksehVj 

19- ¼lh½,d pqacd dks iwjh rjg ls dsoy 

lkexzh ds foijhr {ks= ds cjkcj cy yxkus ls 

gh fopqacdh; cuk;k tk ldrk gSA 

20- ¼,½ naM pqacd dk nf{k.kh èkzqo i`Foh ds 

pqacdh; mÙkjh èkzqo] ;kuh i`Foh ds HkkSxksfyd 

nf{k.kh èkzqo dh vksj vkdÆ"kr gksrk gSA pqacd 

ges'kk mÙkj&nf{k.k fn'kk esa cSBrk gS 

21- ¼ch½ æoksa vkSj xSlksa esa laogu gks ldrk 

gSA 

22- ch- 

23- ¼ch½ 277 dsfYou ij 

24- ¼ch½ fudV –f"V nks"k ds mipkj ds fy, 

vory ysal dk ç;ksx djuk pkfg, 

25- ¼,½ eksrh eq[; :i ls dSfY'k;e dkcksZusV 

ls cus gksrs gSa] blfy, mUgsa fljds esa ?kksyk tk 

ldrk gSA dSfY'k;e dkcksZusV ,d detksj 

,flM lekèkku ds fy, Hkh vfrlaosnu'khy gS 

D;ksafd fØLVy dSfY'k;e ,lhVsV vkSj dkcZu 

Mkbv‚DlkbM cukus ds fy, fljdk esa ,flfVd 

,flM ds lkFk çfrfØ;k djrs gSaA 



 

26-¼,½  çdkf'kd rarq iw.kZ vkarfjd ijkorZu 

ij fuHkZj djrs gSaA iw.kZ vkarfjd ijkorZu 

¼VhvkÃvkj½ dks fdlh ekè;e ds Hkhrj çdk'k 

dh fdj.k ds iw.kZ çfrÇcc ds :i esa ifjHkkf"kr 

fd;k tk ldrk gS tSls ikuh ;k dkap vklikl 

dh lrgksa ls okil ekè;e esaA 

27- ¼Mh½ ikuh esa ,d gok dk cqycqyk çdk'k 

dks mlds ewy iFk ls nwj dj nsrk gS& blfy, 

,d vilkjh ysal ;kuh vory ysal ds :i esa 

O;ogkj djrk gSA 

28-¼Mh½  lw;Z ds çdk'k ls çsfjr baæèkuq"k 

ges'kk lw;Z ds Bhd foijhr vkdk'k {ks= esa 

fn[kkÃ nsrs gSaA blfy, ;g nksigj ds le; 

fn[kkÃ ugÈ nsxkA 

29- ¼ch½ cSaxuh çdk'k yky çdk'k ls Hkh 

vfèkd èkhek gksrk gS] blfy, ;g FkksM+k vfèkd 

dks.k ij vioÆrr gksrk gSA 

30- ¼ch½ pded iRFkj dk fxyklA Ç¶yV 

Xykl] ftls fØLVy Hkh dgk tkrk gS] Hkkjh 

vkSj fVdkÅ Xykl gS ftldh fo'ks"krk bldh 

ped] Li"Vrk vkSj vR;fèkd viorZd xq.koÙkk 

gSA v‚fIVdy Xykl m|ksx esa] Ç¶yV Xykl 

ysal vkSj fçTe cukus ds fy, mi;ksx fd, 

tkus okys fdlh Hkh vR;fèkd viorZd yhM 

;qä Xykl gSA 

31- ¼Mh½ yksgs ;k LVhy ds vkèkkj ds fy, tax 

ds f[kykQ vfèkd lqj{kk çnku djus ds fy, 

xSYoukbÇtx tLrk ds lkFk yksgs ;k LVhy dks 

dksÇVx djus dh ,d çfØ;k gS 

32- Mh 

33- ¼,½ ikbjsDl Xykl dk mi;ksx ç;ksx'kkyk 

midj.k cukus ds fy, fd;k tkrk gS D;ksafd 

blesa foLrkj ds de xq.kkad vkSj jklk;fud 

geys ds fy, mPp çfrjksèk gksrk gSA 

34- ¼,½ 1921 HkkSfrdh esa ukscsy iqjLdkj 

¼1922 esa] vkarfjd ukscsy gkFk ls gkFk&ikao 

dh yach yM+kÃ ds ckn½] mUgksaus bls eq[; :i 

ls QksVksbysfDVªd çHkko dh O;k[;k ds fy, 

çkIr fd;kA 

35- ¼ch½ U;wfDy;j ÅtkZ 

36- ¼,½ ghfy;e vkSj v‚Dlhtu ¼gsyhv‚Dl½A 

xgjs leqæ esa xksrk[kksjksa us ghfy;e vkSj 

v‚Dlhtu ds feJ.k ds flysaMjksa dk bLrseky 

fd;k ftls gsfyvksDl ds uke ls tkuk tkrk gS 

37-¼lh½  M‚ foØe lkjkHkkÃ vkSj ,d ç[;kr 

m|ksxifr vkSj ijksidkjh Jh dLrwjHkkÃ 

ykyHkkÃ] vkSj xqtjkr ds rRdkyhu eq[;ea=h 

M‚- thojkt esgrk }kjk lfØ; :i ls leÆFkr] 

çcq) O;fä;ksa ds ,d lewg us 1961 esa 
vkÃvkÃ,e, dh LFkkiuk dhA 

38- ¼lh½ jeu çHkko] çdk'k dh rjax nSè;Z esa 

ifjorZu tks rc gksrk gS tc çdk'k fdj.k 

v.kqvksa }kjk fo{ksfir gksrh gSA tc çdk'k dh 

fdj.k fdlh jklk;fud ;kSfxd ds èkwy jfgr] 

ikjn'kÊ uewus dks ikj djrh gS] rks çdk'k dk 

,d NksVk va'k ?kVuk ¼vkus okyh½ fdj.k ds 

vykok vU; fn'kkvksa esa fudyrk gSA 

39-¼,½  gsesVkbV vkSj eSXusVkbV vc rd ds 

lcls lkekU; çdkj ds v;Ld gSaA 'kq) 

eSXusVkbV esa 72-4 çfr'kr yksgk] gsesVkbV 

69-9 çfr'kr] fyeksukbV 59-8 çfr'kr vkSj 

lkbMjkbV 48-2 çfr'kr gksrk gS] ysfdu pwafd 

;s [kfut vdsys dHkh ugÈ gksrs gSa] okLrfod 

v;Ldksa dh èkkrq lkexzh de gksrh gSA 

40- ¼ch½ us'kuy buksos'ku QkmaMs'ku 

¼,uvkÃ,Q½ & Hkkjr foKku vkSj çkS|ksfxdh 

foHkkx ¼Mh,lVh½] Hkkjr ljdkj dk ,d Lok;Ùk 

fudk; gSA ;g Qjojh 2000 esa vgenkckn] 

xqtjkr esa LFkkfir fd;k x;k Fkk vkSj tehuh 

Lrj ij rduhdh uokpkjksa vkSj mR—"V 

ikjaifjd Kku dks etcwr djus ds fy, Hkkjr 

dh jk"Vªh; igy gSA 

41- ¼ch½,Fksu‚y ds okf.kfT;d mRiknu esa] 

lSØksekblsl lsjsfofl;k dk mi;ksx [kehj ds 

:i esa fd;k tkrk gS D;ksafd ;g ih,p dh ,d 

foLr̀r J`a[kyk dks lgu dj ldrk gSA 

42- ¼,½ flfyd‚u dk mi;ksx lkSj lsy cukus 

ds fy, fd;k tkrk gS vkSj pkanh dk mi;ksx 

iSuy esa dksf'kdkvksa dks vkil esa tksM+us ds 

fy, fd;k tkrk gSA 

43- ¼ch½,yihth dk Å"eh; eku lcls vfèkd 

gksrk gSA ,yihth dk fof'k"V fof'k"V dSyksjh 

eku 46100 kJ@kg gSA b±èku ds Å"eh; eku 

dks ekud ifjfLFkfr;ksa esa 1 fdyks b±èku ds iw.kZ 

ngu }kjk mRikfnr Å"ek ÅtkZ ¼kJ½ dh ek=k 

ds :i esa ifjHkkf"kr fd;k tk ldrk gSA 



 

44- ¼lh½ vkÃ,l, dk eq[;ky; gfj;k.kk] 

Hkkjr esa gSA tuojh 2016 esa] ujsaæ eksnh vkSj 

rRdkyhu Ýkalhlh jk"Vªifr ÝkaLok vksykan us 

la;qä :i ls vkÃ,l, eq[;ky; dh 

vkèkkjf'kyk j[kh vkSj Xoky igkM+h] xq#xzke] 

Hkkjr esa jk"Vªh; lkSj ÅtkZ laLFkku 

¼,uvkÃ,lÃ½ esa varfje lfpoky; dk 

mn~?kkVu fd;kA 

45- ¼,½ f}rh;d 'khryd] gYds ikuh esa 

fo[kaMu çfrfØ;k ls mRiUu xeÊ dks ifjogu 

ds fy, çkFkfed 'khryd ds :i esa Hkkjh ikuh 

dk mi;ksx fd;k tkrk gSA 

46-¼ch½  ijek.kq fj,DVj esa xzsQkbV dh NM+sa 

e‚MjsVj ds :i esa mi;ksx dh tkrh gSaA 

47- ¼ch½  

48- ¼,½,d jspd ,d nok gS tks vkidks vius 

'kjhj ls vokafNr dpjs ls NqVdkjk fnykrh gS 

49- ¼,½ Hkweè; js[kk ij Hkwfe 1670 fdeh çfr 

?kaVs dh xfr ls vkxs c<+ jgh gS] vkSj èkzqo dh 

vkèkh Hkwfe dsoy 1180 fdeh çfr ?kaVs dh xfr 

ls vkxs c<+ jgh gS] blfy, Hkweè; js[kk ls 

y‚Up djus ls varfj{k ;ku y‚Up gksus ds ckn 

yxHkx 500 fdeh@?kaVk rst xfr ls vkxs 

c<+rk gSA 

50- ¼Mh½ eSF;w Q‚uVsu ekS;Z] leqæ foKku ds 

tud 

51-¼ch½  gSnjkckn dk dkphxqMk jsyos LVs'ku 

Hkkjr dk igyk ÅtkZ dq'ky *,1 Js.kh* jsyos 

LVs'ku cu x;k gSA ;g Hkkjrh; jsyos ds nf{k.k 

eè; jsyos ¼,llhvkj½ {ks= }kjk lapkfyr gSA 

LVs'ku us 1]312 ikjaifjd ykbVksa dks 

ykbV&,feÇVx Mk;ksM ¼,yÃMh½ ls cnydj 

;g miyfCèk gkfly dh gSA 

52-¼ch½  v‚ijs'ku lso dqekZA oU;tho vijkèk 

fu;a=.k C;wjks ¼MCY;wlhlhch½ }kjk ns'k ls 

fons'kksa esa thfor dNqvksa vkSj muds fgLlksa ds 

c<+rs voSèk O;kikj ds f[kykQ yM+us ds fy, 

v‚ijs'ku pyk;k x;k FkkA 

53- ¼ch½ tSo fofoèkrk g‚VLi‚V voèkkj.kk tSo 

fofoèkrk vkSj ekuork ds la;kstu ij çdk'k 

Mkyrh gSA u‚eZu ek;lZ }kjk igyh ckj 1988 
esa lq>kÃ xÃ voèkkj.kk] mPp tSo fofoèkrk vkSj 

LFkkfudrk ds {ks=ksa esa fuokl LFkku ds rsth ls 

uqdlku ds ckjs esa ikfjfLFkfrdhfonksa vkSj 

i;kZoj.kfonksa ds chp c<+rh Çprk ls mRiUu 

gqÃA 

54- ¼ch½ iihdksaMk jk"Vªh; m|ku ¼ih,uih½] 

vkU/kzizns'k ,d çeq[k {ks= ds lkFk ue i.kZikrh 

taxy ls vkPNkfnr gS] iwoÊ ?kkV esa rsanq, dh 

fcYyh ¼fçuSyqjl csaxkysafll½ dk ?kj cu x;k 

gSA 1]012-86 oxZ fdeh dk jk"Vªh; m|ku 

mÙkjh iwoÊ ?kkV esa xksnkojh unh ds nksuksa 

fdukjksa ij gSA 

55-¼ch½ phu nqfu;k Hkj esa bysDVª‚fud dpjs 

dk lcls cM+k mRiknd gS] tks 2019 esa 10 
fefy;u ehfVªd Vu ls vfèkd ewY; dk 

mRiknu djrk gSA 

56- ¼ch½ bafM;u v‚;y fjlpZ ,aM MsoyiesaV 

lsaVj us Qjhnkckn esa IykfLVd dpjs ds 

fofHkUu lkaærk ds lkFk 0-85 fdeh lM+d dk 

fuekZ.k fd;k gSA 

57- ¼,½ jktLFkku dk t;iqj jsyos LVs'ku 

Hkkjr ds lcls LoPN jsyos LVs'kuksa dh lwph esa 

lcls Åij gSA losZ{k.k esa dgk x;k gS fd 

t;iqj LVs'ku LoPNrk losZ{k.k 2019 esa 931-

75 ds lexz Ldksj ds lkFk igys LFkku ij gSA 

tksèkiqj 927-19 ds Ldksj ds lkFk nwljs 

tcfd nqxkZiqjk us 922-50 ds Ldksj ds lkFk 

rhljk LFkku gkfly fd;kA 

58-¼,½  vkÃVhlh us iq.ks esa viuh rjg ds 

igys cgqLrjh; IykfLVd ¼,e,yih½ laxzg vkSj 

iqupZØ.k dk;ZØe dk Hkh usr`Ro fd;k gS] tks 

vkÃVhlh ykbQ lkbalst ,aM VsDuksy‚th lsaVj 

ds Hkhrj fuoklh vkj ,aM Mh fo'ks"kKrk dk 

ykHk mBk jgk gSA 

59- ¼ch½ vkstksu ijr 16 fdeh ls 25 fdeh 

dh ÅapkÃ ij lerki eaMy esa ekStwn gSA 

vkstksu dh eksVkÃ M‚clu bdkb;ksa ¼Mh-;w-½ }kjk 

ekih tkrh gS 

60- ¼Mh½ ykbdsu i;kZoj.k esa lYQj 

Mkbv‚DlkbM çnw"k.k ds vPNs ladsrd gSaA 

61- ¼ch½ vkuqoaf'kd lalkèkuksa rd igqap ij 

ukxks;k çksVksd‚y vkSj muds mi;ksx 

¼çksVksd‚y½ ls mRiUu gksus okys ykHkksa dk mfpr 

vkSj U;k;laxr lk>kdj.k ,d oSfÜod le>kSrk 

gS tks tSfod fofoèkrk ij dUosa'ku ¼lhchMh½ dh 



 

igqap vkSj ykHk&lk>kdj.k nkf;Roksa dks ykxw 

djrk gSA 

62- ¼ch½,uch, dk eq[;ky; psUuÃ] rfeyukMq] 

Hkkjr esa gS vkSj ;g çkfèkdj.k] lfpoky;] 

,lchch] ch,elh vkSj fo'ks"kK lfefr;ksa ds 

<kaps ds ekè;e ls viuk tukns'k nsrk gSA 

63- ¼Mh½ Hkkjr dk igyk dkcZu Mkbv‚DlkbM 

ekiu ,Dlpsat Vkoj gY}kuh ¼mÙkjk[kaM½ esa 

LFkkfir fd;k x;k Fkk] ,sls dÃ vU; Vkoj ns'k 

ds vU; fgLlksa tSls cjdksV ¼mÙkjk[kaM½] esjB 

¼mÙkj çns'k½ vkSj cSrwy ¼eè; çns'k½ esa Hkh 

LFkkfir fd, x, gSaA ½ 

64- ¼ch½ og ,d i'kq vfèkdkj dk;ZdrkZ gSa 

vkSj i'kq vfèkdkj if=dk ,fuey VkbEl ds 

Hkkjrh; laLdj.k dh laiknd FkÈA 

65- ¼ch½ Hkkjr dh i;kZoj.k fjiksVZ 2021 dh 

fLFkfr foKku vkSj i;kZoj.k dsaæ] uÃ fnYyh 

fLFkr ,d i;kZoj.k xSj ljdkjh laxBu }kjk 

tkjh dh xÃ gSA fjiksVZ 5 twu dks foÜo 

i;kZoj.k fnol dh iwoZ laè;k ij çfro"kZ tkjh 

dh tkrh gS 

66- ¼Mh½ if'peh ?kkV 140000 oxZ fdeh ds 

dqy {ks=Qy dks doj djrk gSA ;g dukZVd] 

rfeyukMq] dsjy] xksok] egkjk"Vª vkSj xqtjkr 

jkT;ksa dk ,d fgLlk gSA LFkkfud ikSèkksa dh 

çtkfr;ksa dh lcls cM+h la[;k ;gk¡ ikÃ tkrh 

gSA oSKkfudksa ds vuqlkj ;g {ks= ns'k ds tSo 

fofoèkrk g‚V Li‚V esa ls ,d gSA 

67- ¼lh½ xzhugkml xSlksa dk voyksdu mixzg 

'IBUKI' ¼GOSAT½ varfj{k ls dkcZu 

Mkbv‚DlkbM vkSj ehFksu] nks çeq[k xzhugkml 

xSlksa dh lkaærk dks ekius okyk nqfu;k dk 

igyk varfj{k ;ku gSA 

68- ¼lh½ vle ds lksfuriqj ftys esa iwoÊ 

fgeky; dh rygVh esa fLFkr] ukesjh jk"Vªh; 

m|ku lQsn ia[kksa okyh ydM+h dh cÙk[k dk 

vafre ?kj gS] tks Hkkjr esa cÙk[kksa dh lcls 

yqIrçk; çtkfr gSA 

69- ¼lh½ laLFkku ds pkj {ks=h; dsaæ eaMie] 

fo'kk[kkiÙkue] eSaxyksj vkSj foÇ>te esa fLFkr 

gSa vkSj lkr {ks=h; LVs'ku eqacÃ] psUuÃ] 

dkyhdV] dkjokj] rwrhdksfju] osjkoy vkSj 

nh?kk gSaA laLFkku ds fu;a=.k esa iaæg {ks=h; 

dsaæ vkSj 2 dsohds ¼,ukZdqye vkSj dojÙkh] 

y{k}hi½ Hkh gSaA 

70- ¼,½ bafnjk xkaèkh oU;tho vHk;kj.; dks 

'kh"kZ ipÊ ds :i esa Hkh tkuk tkrk gS vkSj ;g 

iksykph 'kgj ls yxHkx lSarhl fdyksehVj dh 

nwjh ij fLFkr gSA ;g uhyfxfj igkfM+;ksa ls 

mÙkj esa iky?kkV xSi }kjk vkSj blds if'pe esa 

ijfEcdqye oU;tho vHk;kj.; ls Hkh 

,jkfodqye jk"Vªh; m|ku vkSj blds nf{k.k esa 

fpukj WLS ls vyx gSA 

71- ¼,½ ikjlsd yackÃ dh ,d bdkÃ gS 

ftldk mi;ksx lkSj eaMy ds ckgj [kxksyh; 

ÇiMksa ds chp fo'kky nwjh dks ekius ds fy, 

fd;k tkrk gSA ;g eksVs rkSj ij ds cjkcj gSA 

çdk'k&o"kZ ;k [kxksyh; bdkb;k¡] ;kA fVªfy;u 

fdyksehVjA 

72- lh 

73- , 

74- lh 

75- Mh 

76- Mh 

77- ¼,½ tc dksÃ fy¶V Åij dh vksj xfr 

djrh gS] rks mlds vanj ds O;fä dk Hkkj c<+ 

tkrk gSA blfy,] tc dksÃ fy¶V uhps dh 

vksj xfr djrh gS] rks mlds vanj ds O;fä 

dk Hkkj de gks tkrk gSA vkj ¾ ,e ¼th & 

th½ ¾ 0A 

78-¼Mh½  ,evkjvkÃ daI;wVj ij fp= cukus ds 

fy, eSXusV vkSj jsfM;ks rjaxksa dk mi;ksx djrk 

gSA ,evkjvkÃ fdlh Hkh fofdj.k dk mi;ksx 

ugÈ djrk gSA ,evkjvkÃ LdSu }kjk fuÆer 

Nfo;ka vaxksa] gfì;ksa] ekalisf'k;ksa vkSj jä 

okfgdkvksa dks fn[kk ldrh gSaA 

79-¼,½  èkzqo ij i`Foh dh f=T;k U;wure gksrh 

gSA vr% *g* èkzqo ij vfèkdre gSA vr% 'kjhj 

dk Hkkj èkzqo ij vfèkdre gksrk gSA 

80-¼lh½  nwèk dks eFkus ij dsaækilkjd cy ds 

dkj.k Øhe mlls vyx gks tkrh gS D;ksafd 

;g cy dsaæ dks dsaæ ls tksM+us okyh js[kk dh 

fn'kk esa ckgj dh vksj dk;Z djrk gSA 

81-¼lh½  ,D;wvkÃ nSfud ok;q xq.koÙkk dh 

fjiksÉVx ds fy, ,d lwpdkad gSA ;g vkidks 

crkrk gS fd vkidh gok fdruh LoPN ;k 

çnwf"kr gS] vkSj blls tqM+s LokLF; çHkko vkids 



 

fy, Çprk dk fo"k; gks ldrs gSaA ,D;wvkÃ dk 

mís'; gok dh xq.koÙkk dh tkudkjh ¼yxHkx 

okLrfod le; esa½ dks tYnh ls çlkfjr djuk 

gS] tks fd vYidkfyd çHkko okys çnw"kdksa ds 

fy, flLVe dks ftEesnkj Bgjkrh gSA ,D;wvkÃ 

ds fudV okLrfod le; ds çlkj ds fy, 

vYidkfyd ekudksa okys vkB ekinaMksa 

¼ih,e10] ih,e2-5] ,uvks2] ,lvks2] lhvks] 

vks3] ,u,p3 vkSj ihch½ ij fopkj fd;k x;k 

gSA 

82- ¼Mh½ dSfcusV lfpoky; vkSj ih,evks ds 

ç'kklfud fu;a=.k esa ,d xqIr cy ftls 

Lis'ky ÝafV;j QkslZ ¼,l,Q,Q½ ds :i esa Hkh 

tkuk tkrk gSA 1962 ds ;q) ds var esa mBk, 

x,] SFF ds dekaMks Hkkjr esa cls frCcrh 

'kj.kkÆFk;ksa ls fy, x, gSaA ,l,Q,Q us 

1971 ds Hkkjr&ikfdLrku ;q) ls ysdj 

1999 ds dkjfxy ;q) rd & dÃ lSU; 

vfHk;kuksa esa egRoiw.kZ Hkwfedk fuHkkÃ gS & 

ysfdu cM+s iSekus ij Nk;k esa dke fd;k gSA 

,l,Q,Q bdkb;ka] ftUgsa fodkl cVkfy;u Hkh 

dgk tkrk gS] dSfcusV lfpoky; ds lhèks nk;js 

esa vkrh gSa] vkSj lsuk ds lkFk lfØ; :i ls 

'kkfey gksrh gSaA 

 

83-¼Mh½ Hkkjrh; jsyos ds jsyos lqj{kk cy 

¼vkjih,Q½ }kjk nykyksa ds f[kykQ vfHk;ku 

rst fd;k x;kA ,d jk"VªO;kih tkap esa] 

vkjih,Q us Þfj;y eSaxksÞ uked voSèk 

l‚¶Vos;j ds lapkyu dks ckfèkr fd;k gS] 

ftldk bLrseky dUQeZ jsyos fjtosZ'ku ds 

fy, fd;k tkrk gSA Hkkjrh; jsyos ds jsyos 

lqj{kk cy ¼RPF½ }kjk nykyksa ds f[kykQ 

vfHk;ku rst dj fn;k x;k gSA Hkkjrh; jsyos 

ds jsyos lqj{kk cy ¼vkjih,Q½ }kjk ÞnqyZHk 

eSaxksÞ ¼ckn esa bldk uke cnydj Þfj;y eSaxksÞ 

dj fn;k x;k½ uked ,d voSèk l‚¶Vos;j dk 

lapkyu rst dj fn;k x;k FkkA 

84- ¼,½ uhfr vk;ksx }kjk fiNys lky tkjh 

fd, x, bafM;k buksos'ku baMsDl dks ns'k ds 

lHkh jkT;ksa esa uokpkj ds fodsaæhdj.k dh fn'kk 

esa ,d cM+s dne ds :i esa O;kid :i ls 

Lohdkj fd;k x;k gSA 

85-¼lh½  e‚fUVª;y çksVksd‚y }kjk 

vkstksu&{k;dkjh inkFkks± dh fjgkÃ dks de 

djus ds fy, fof'k"V fu;a=.k j.kuhfr;ksa ij 

,d oSfÜod le>kSrk viuk;k x;k FkkA 

e‚fUVª;y çksVksd‚y ;g fuèkkZfjr djrk gS fd 

lerki eaMy esa vkstksu dks lekIr djus okys 

;kSfxdksa dk mRiknu] Ã] thA 

86- ¼ch½ tSo fofoèkrk ÅapkÃ ;k v{kka'k esa 

ifjorZu ds lkFk cnyrh gSA tSls&tSls ge 

mPp ls fuEu ÅapkÃ ¼;kuh èkzqoksa ls Hkweè; js[kk 

rd½ dh vksj c<+rs gSa] fofoèkrk c<+rh tkrh gSA 

87- ¼lh½ i`Foh dh lrg rd igq¡pus okys lw;Z 

ds çdk'k dh ek=k esa deh] ekuk tkrk gS fd 

;g okrkoj.k esa çnw"k.k ds dkj.k gksrk gSA 

88-¼Mh½  [kjirokj Qlyksa ds lkFk vko';d 

?kVdksa] çdk'k] ikuh] iks"kd rRoksa vkSj LFkku ds 

fy, yM+rs gSaA [kjirokj Qly dh mit dks 

de dj nsrs gSa vkSj Qlyksa esa jksx Hkh iSnk dj 

ldrs gSaA [kjirokj uk'kdksa dk fNM+dko dj 

[kjirokjksa dks jksdk tk ldrk gSA 

fujkÃ&xqM+kÃ djds [kjirokjksa dks gVk;k tk 

ldrk gSA 

89- Mh 

90- ch 

91- ¼Mh½ vYVªkfQYVªs'ku ikuh ls cSDVhfj;k] 

çksVkstksvk vkSj dqN ok;jl dks gVk nsrk gSA 

uSuksfQYVªs'ku bu jksxk.kqvksa] lkFk gh vfèkdka'k 

çk—frd dkcZfud inkFkks± vkSj dqN çk—frd 

[kfutksa dks gVk nsrk gS] fo'ks"k :i ls 

f}la;kstd vk;u tks dBksj ikuh dk dkj.k 

curs gSaA 

92- ¼Mh½ dSMfe;e 

93- ch 

94- ¼,½ Hkkjr 4 tSo fofoèkrk g‚VLi‚V dh 

estckuh djrk gS% fgeky;] if'peh ?kkV] 

baMks&cekZ {ks= vkSj lqanjySaM ¼}hiksa dk fudksckj 

lewg 'kkfey gS½A 

95- lh 

96- ch 

97- , 

98- Mh 

99- ¼ch½ jsljikbu& ;g jkmoksfYQ;k lisZfUVuk 

ls çkIr ,d baMksy ,YdkyksbM gSA bldk 

mi;ksx Øe'k% mPp jäpki ds fu;a=.k vkSj 



 

ekufld y{k.kksa dh jkgr ds fy, 

,aVhlkbdksfVd vkSj ,aVhgkbijVsfUlo ,tsaV ds 

:i esa fd;k tkrk gSA 

100- ¼,½ m".kdfVcaèkh; o"kkZouksa esa ueh vkSj 

rkieku dh vuqdwyre fLFkfr gksrh gSA 

urhtru] m".kdfVcaèkh; O;FkZ taxyksa esa 

vi?kVu dh nj Hkh vfèkd gSA 


